SAP ABAP table FAGL S ACCIT SPL {Split ACCIT}

FAGL_SEGM

MANDT [CLNT (3)]

SEGMENT [CHAR (10)]

J_1ADTYP
MANDT [CLNT (3)]
BUKRS [CHAR (4)]
J_1ADTYP [CHAR (2)]

J 1BBRANCH
MANDT [CLNT (3)]
BUKRS [CHAR (4)]
BRANCH [CHAR (4)]

TO014
MANDT [CLNT (3)]
KKBER [CHAR (4)]

T041C
MANDT [CLNT (3)]
-~ 0..N ['STGRD [CHAR (2)]

TCCL
MANDT [CLNT (3)]
LOCID [CHAR (10)]

TCCM
MANDT [CLNT (3)]
MERCH [CHAR (15)]
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' R FAGL S ACCIT SPL-FKBER = TFKB-FKBER " 0..N |MANDT [CLNT (3)]
O S~ WAERS [CUKY (5)]
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N T - MANDT [CLNT (3)]
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\ N FAGL_S_ACCIT_SPL-CCINS = TVCIN-CCINS 0N I BER [CHAR (16)]

\ T~ TVCIN
' Tt~ MANDT [CLNT (3)]

AN FAGL S ACCIT SPL-CCTYP = TVCTY-CCTYP CCINS [CHAR (4)]

. TVCTY
_ MANDT [CLNT (3)]
- ~0..N | CCTYP [CHAR (2)]




